STAT 1350, 1/13 Discussion Questions
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10. Forasample to t?e a simple random sample of size n, what must be true?
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Suppose you want to takeja simple random sample of size 6 from the 20 participants in your Zumba
exercise class. You label the students 01 to 20 in alphabetical order by last name. In the table of random

digits, you read the entries
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12. The six participants in your selected sample have labels

4 6, 3,2,9,15

13. Which of these statements about a table of random digits is
A) No two- d|g|t number appears more than once in a give
B) It is not p0|55|ble for 00000 (five zerps in a row) to appe
C) It is possible for five consecutive dlt_:its (e.g., 12345) to
t;i All of these are true.
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6. A statistician tells the producer that the margin of error for a 95% confidence statement for
these data is ab0|ut plus or minus 3 percentage points. The producer therefore reports that
between 1.5% and 7.5% (that’s 4.5% + 3%) of all eggs are contaminated. It turns out this isn’t

right—only 0.1%|are contaminated. What went wrong?

: ) g . L b 5 o b u
ﬂof/ucuaﬂméjmﬁ%kog : ﬁw@m"@@‘j‘wf %m
: c - P 5 - . »
*/f(ﬂdﬁ SS(G‘ 6 The A/nu_, (ot Suw Aala. oo Aot o
rderval.
7. An opinion poll asks a sample of 1100 people whether they support reducing the number of
legal immigrants lto the United States; 53% of these 1100 peaple say “Yes.” The number 53% is
a (proportion or mean; parameter or statistic)?
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8. If the sample size
random sample depends on

e margin of error of a simple

9. A 95% confidence interval was created for the proportion of the city’s residents that are

opposed to constructing a new baseball stadium in the downtown area. By “95% confidence”
we mean what? ut equally valid ways.
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